Class Assignment #1 – Structual Design 1. semester

No. 1
There is given a beam which is loaded with a mass of 2700 kg as shown on figure 1.
1. Draw the static construction (remember to add 10 cm in each side to support depth).
2. Calculate the reaction VA and VB
[image: image1.bmp]
Imagine that the beam is supported with columns that can take a calculated pressure of
σcd = 1,50 N/mm2
3. Under assumption that the columns are massive squared it is your task to calculate the width.

No. 2
Another beam is loaded with two masses. Mass one is 2700 kg and the other is 700 kg as shown on figure 2.

1. Draw the static construction.

2. Calculate the reaction VA and VB









Imagine that the beam is supported with columns that can take a calculated pressure of

σcd = 1,50 N/mm2
3. Under assumption that the columns are massive squared it is your task to calculate the width.

No. 3










1. Draw the static construction.

2. Is the construction in balance? Documentation is required.

3. Calculate the reaction VA and VB
Imagine that the beam is supported with columns that can take a calculated pressure of

σcd = 1,50 N/mm2
4. Under assumption that the columns are massive as shown it is your task to calculate the width.
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